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Answers for 9.1
For use with pages 617-679

9.1 Skill Practice

1.

10.

11.

12.

13.

14.

g 15
(4, 3)

svsi(2] e 3\@,(—1,%)

The distance d between (x,, y,)
and (x,, y,) is
d=\(x, =)’ + (v, =y

the midpoint of the line segment
joining A4(x,, y,) and B(x,, y,) is

j\/(xl+x2 yl—i—y2
) ’

. No; addition is a commutative

operation.

a.2V5; (2, 1)

. 4V2; (4, —3)
. 3\/E; (%, 1)
. 12V2;(2,2)

2V13; (8, —6)
s 3o
25 (2.0

53

2

15.

16.

17.

18.
20.

21.

22.
24.
26.
28.

30.

31.

32.

33.

34.

35.

2V194; (1.2, 2)

641
5

3221
10

C 19. A

—1 should be subtracted from 6
not 1;

d=V@2 =35 +6~ (-1
= V9 + 49 = V58,

The difference of the squares
should be added not subtracted;

d=\@ = (~4)7 + @ -3

or about 5.06; (1.9, 6.5)

or about 5.68; (0.35, —6)

= V36 + 25 =Ve6l.
isosceles 23. isosceles
scalene 25. scalene
1sosceles 27. scalene
scalene 29. scalene
1sosceles

_ 2 .4
y= 3x + 3
y=-3x+1

_ 1.5
Y R

1 11
y=or T
y=—4x+ 12—7
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Answers for 9.1 comines
For use with pages 617-679

36.y = gx —4

37. Sample answer: (6, 4), (2, 0)
38. )y = gx — 23—0

39.y = —%x + %

40. y = —x + 8

a1. =6 42. —5,3
43. —10,2 44. 8,18

dx) = V5x2 — 16x + 13;

55k6.0

46. Sample answer:
x, +x, 2 Yty 2
5 X + — )

2
2 _ 2 2 _ 2
\/x1 2x1x2 + X, + ’ 2y1y2 + Y,

45.

2 b

X, +x2
2

_—

|

2 <y1+y2 )2_
+ > Y, =

2

\/xlz — 2ty 2yt yzz.

2
Yo ™ N
y =y =5 o X,
YT, Dy Ty [x T
7 M Tnen 7 )

Yo TN _yz_yl
2 2

>

9.1

47.
48.
49.
50.
51.
52.
53.

54.
55.

56.

57.

9.1

58.

Problem Solving
17 m

about 2.55 mi
about 6.02 mi
about 1.91 mi
about 4.55 mi
about 5.39 mi

a. (—1.5,8)

b. about 1.32 mi
c. about 1.68 mi

about 11.75 in.

about 550 ft
ﬁ )i) (xl-i-x2 )i)
a2\ 2 2
X

b. 52; the strip is one-half the
length of the base.

13

<t <—
Sts 6

AN

Mixed Review

Vol
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Answers for 9.1 couines
For use with pages 617-679

59. y
1
—1 X
[\
[ 1)
60. y
1
-1 X
/ \
61 \ y /
\ /
\\l /
-1 X
62. y
1
_2// \\ X
/ N\
63. \ | [
\il /
N/
-1 X

64. (x — 8)(x +2)
65. (x — 9)(x — 6)
66. (8x + 5)(x + 4)

67
68
69

70.
72.
74.

.(3x — 1)4x — 3)
.(x=3)x+3Hx+5)
. (x — 4)(x% + 4x + 16)

33
7
10

71. 5
73. 6, —1
75. 4
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Answers for 9.3

For use with pages 629-632

9.3 Skill Practice

1.

2

10.

center
. They are opposite reciprocals of
one another.
. C 4. E 5 A
.D 7. F 8.B
y
s N
[ | \
\_5 /
\_|
1
y
yall N
/ A\
( )
\ | =3 /
\. /
N | S
9

11. Y

12. y

13. y

AT N
b

N |
=

3V3
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Answers for 9.3 ines

For use with pages 629-632
14. y 17. y
/ AN
2 B
BN
-2 X ( \
N , R A
2V10
15. y 2
// \\ 18 y
/ARENEEE PauEnN
[ | / \
SmE IE ANEE \
\\\ » // -1 X
~_|_— \ /
. /

-t

o

~
N

T 1 TN
/ \ 19 y
r ! \ 1
| (-1 |E
\ / [ \
\\‘ 4/1 \ 2 l ~
3 S —"

e
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Answers for 9.3 ines

For use with pages 629-632

20. y
/’//2\\\
\ 2 J 1 x
\\\\////

2V6

21. A

22. x> + y> = 144

23. x> + > = 64

24. x> +)y> =4

25. x2 + y? = 256

26. x> + 1> =2

27. x> +y?> =15

28. x> + 1> =50

29. x2 + % =96

30. The radius should be squared;

X2+ % = 144,

31. x2 + y2 = 36

32. x? +y? =25

33.x? +)* =25

34. x2 + y2 =20

35. x2 + y2 =100

36. x% + y2 =85

37.x* +)y* =116

38.
39.
40.
41.
42.
43.
44.

45.

46.

T TN
\\\ B //
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Answers for 9.3 cines
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47. y
/
[ ’ \
\ [ [-3 /
AN /
48. y
1
1 ~ X
49. ™S y
\\\2
)
-1 ) X
/
e
Ve
50. | L
/// \\\
/ AN
AN \
( \
\ -1 ] x
\ /
A /
\\‘ ;//

51.

52.

53.

54.

55.

56.

57.

58.
59.

60.

61.

y
1
[ \
\ [ Jl | x
y
2
—1 X
7
_ 1 17
y 4x+4
213
Y=oy
5 34
y=§x+?
y=—3x—20
5 106
y=o¥t Ty
y=—3x+50

Sample answer: x> + y* = 35,
x? 4+ y? =36,x> + y? =38

V2 — 2
Sample answer: m, = —————
B x+r >’
VR — 2 _
m, = "x—p »mm, =
L=rV3
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Answers for 9.3 ines
For use with pages 629-632
9.3 Problem Solving
62. yes 63. yes 64. D
65. a. about 28.9 mi

b. about 18.3 mi

c. about 6 mi

66. Yes. Sample answer: The height
of the tunnel at the center of the
walkway is about 79.7 inches and
the worker is only 74 inches tall.

67. about 7.94 ft

68. a. y
40

|

\\//

[ /A~ \\
\ N/
\ T/ /
. /

b. x> +?2<0,x? + y? <225,
x? + y? <625, x2 + 2 <1225

c. It will be at least 5.4;
400 < 625 so 1t will be at least
a 5.4 rating.

69. about 18 min

9.3 Mixed Review

70. (9, —5) 71. (—3,-7)
72. 4, 1) 73. (—3,1,6)

74.

76.

77.

78.

79.
81.
83.

(—2,8,4) 75.(0,4,7)

(34 —5 —3]
20 10 17

[—53 —13
40 9

53 24

The number of columns in

the first matrix does not match
the number of rows in the
second matrix.

+2V15 80. +5V2

+9 82. =12

+2V7 8a. +4\V14
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